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B M2gNME &

e 20234 20234 = e 20234 20234
J|E o ZH N I ZH N
2| & = (A) (B) 4 ==(B-A) 2| g g (A) (B)
NEFEHISXBI(ZER2) 150 150
Ar ] 1,084,413 1,104,500
SStAFH] 82,401 106,488
IS HAMLEI(EXZ) 10,450 10,450
IS H AL (KR E) 120 120
=2 AHALGH (FRS) 6,395 11,395
IS MEAILEHI(BEXZ) 3,700 3,700
II=MEALH (FR3) 10,340 10,340
IIEVEHH=X S BEH ALY 17,100 17,100
IIEDE NG =X A BREH ALY 460 1,130
IESVENEXNABSHAIH (SRS 24,350 26,237
KIS ALSI G HAISH (EXZ) 600 0
KIS AFSI G H AL HI (RHRE) 470 0
SSALHI(BXES) 7,499 21,599
SESALHI(IHEL) 100 100
EZANHH(ZEEZ) 817 4,317
HEWF A 167,208 167,208 0
HEAMLH(EXZ) 145,372 145,372 0 0
SIS AFEHI (KSR E) 1,473 1,473 0 0
SE229| 20,363 20,363 0 0
S 4= Al 2R AFI I 4,500 4,500 0 0




B M2gNME &
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ne 2023 | 20234 = 2023 2023\ =2
Il E o 25 ol pJE=Fel o

| g = (A) (B) o 4= (B-A) ol & (A) (8) o (B-A) | HIS (%)

S 4 Al EH N 4,500 4,500 0 0

2E0/00 X 20,000 20,000 0 0

29 5,875 5,875 0 0

AbH 14,125 14,125 0 0

SHAX A HI 33,418 33,418 0 0

o1 24| 32,510 32,510 0 0

lAb(ZE3) 605 605 0 0

29| 303 303 0 0

|50 At 35,031 35,031 0 0

o1 24| 34,908 34,908 0 0

AFH 4 4 0 0

29| 119 119 0 0

o102 X2 AFS H 39,344| 39,344 0 0

o1 2| 33,982 34,534 552 2

23| 3,062 3,010 AB2 YAV

AbH 2,300 1,800 A500 N22

ZESIUHSHAMGH 15H 56,194 56,194 0 0

o1 24| 32,500 31,241 A1,259 A4

Z=otelel ol 7,500 7,455 45 N

2 3,594 5,598 2,004 56

AFH 11,600 10,900 AT00 N




B ALHNE 52 (el &)
2| & = (A) (B) oH4=(B-A) | HIZ(%) 2| & = (A) (B) 4= (B-A) | HIZ(%)
AP HI (K2 E) 1,000 1,000 0 0
ZS|OILUSHAIZHI2EE 56, 194 56, 194 0 0
o1 214| 33,134 34,677 1,543 5
Fotolg oAy 8,080 8,080 0 0
294l 5,980 4,580  A1,400 A23
Ab&d I 8,000 7,857 A143 A2
INR= = [JONZ=9) 1,000 1,000 0 0
=5 Y =2 AL 98,950 98,950 0 0
o1 21H| 33,014 32,918 A96 A
294l 2,930 1,905  A1,025 A35
Ab I 63,006 64,127 1,121 2
Fgmz ) 4,500 4,500 0 0
HAm=2 )2 At 4,500 4,500 0 0
CIRSO R0 EA 2 2 AL I 4,000 1,000  A3,000 AT5
LRS00 S 2@ AP I 4,000 1,000  ~3,000 AT5
ChEStE A S0t S A I 7,000 7,000 0 0
G2 LA SO0t S AFS 7,000 7,000 0 0
CtEZ23tIotS Atdl 22l A I 37,017 37,017 0 0
ol 21| 33,407 33,846 439 1
294l 2,040 1,601 A439 A22
Abd I 1,570 1,570 0 0
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B A2EAE 52 (A= &J)
2| & = (A) (B) oH4=(B-A) | HIZ(%) 2| & = (A) (B) 4= (B-A) | HIZ(%)
NEIEALH (A EXNEB2S223]) 1,000 0 A1,000 2100
NEIE A I 1,000 0 A 1,000 A 100
19102 RI& AF I 25,000 25,000 0 0
AHEIHI 25,000 25,000 0 0
ASIEZE OrAE T AL H| 90,900 90,900 0 0
o1yl 61,790 61,396 N394 AT
29l 3,963 4,484 521 13
AHEIHI 25,147 25,020 N127 AT
Z0tJt= ChE3H0lol = A bl 2,700 2,700 0 0
AHEIHI 2,700 2,700 0 0
OFztal 2l &t AL I 10,000 10,000 0 0
2l 1,920 1,980 60 3
AbSIHI 8,080 8,020 AB0 AT
2202 X A02HHI0 AFE BI 10,000 10,000 0 0
AbSIHI 10,000 10,000 0 0
10102 A2l & 2t H 2 & & X & A I 105,680 105,680 0 0
o1l 37,983 42,537 4,554 12
23l 17,608 13,054 A4,554 N26
AbHI 50,089 50,089 0 0
AR E=Z & X2 ASHI 4,000 4,000 0 0
2l 500 500 0 0
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e 20234 | 2023 = e 20238 | 20238 =

21 = jﬁf ?é(ffH o 4 (B-A) 2| g = j'(ijfu gféfH o4 (B-A) | HIS (%)
A HI 3,500 3,500 0 0

olglgl 2 J1e 2,250 2,250 0 0

oldldl & 2,250 2,250 0 0

gtet= 2,250 2,250 0 0




